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Topic:- Physics

1) The energy stored in a coil of self-inductors of 50 mH, carrying a steady current of 2A is: /
2A P ufadl YRT aIfgd HA arelt, 50 mH W-URAT arell T Fselt § GIgha ot 8

1.11J

2.101J

3.51J

4.0.1J

Correct Answer :-

2) A motor car is moving with a speed of 20m/s on a circular track of radius100m. If its

tangential acceleration is 3m/s?, its resultant acceleration is : /

TSP HieX B, 100 Hex B 41 aTd T TR Y R 20 Hiey/Ads St ara | 3
8! 21 afe 3T W @rul, 3 Hiew/Ads? g d) uRumHl @=ur gihm:

1. 4 m/s?
2.3.5m/s?
3.5 m/s2

4.3 m/s?

Correct Answer :-

¢ 5m/s? .
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3) The maximum and minimum magnitudes of the resultant of two given vectors are 17 and
7 units respectively. If these two vectors are at right angles to each other, the magnitude of
their resultant is: /

S fou 7T deei & ufvumft & srftreaw MR =Haw uRHTur HHRT: 17 3R 7 SHI3AT 6 |
gfe o QI dFeR UH-gRIR & GUDIV W &, A ST URUITH &1 IRHTT gl &:

1. 16
2. 14
3.12

4. 13

Correct Answer :-

4) The kinetic energy of a body becomes four times its initial value. The new momentum will
be:/

o e 1 fae Suif, 399 RIS a9 I =R 1 ) STt 8 | 731 Havr g
1. Half of its initial value / S URfHep HI- T 34T

2. Same as the initial value / TRI¥e& A & JHH

3. Four times the initial value / TR HH BT IR RIGI

4. Twice of its the initial value / 39 URfY® A &1 &l AT

Correct Answer :-

« Twice of its the initial value / 3% RN A &1 & AT

5) The Young’s modulus of the material of a wire is 2 x 101N/m2. If the elongation strain is

1%, then the energy stored in the wire per unit volume in J/m3 is 3/

& dR ) ATt &1 49 J14i 2 x 1010N/m?2 81 afe Ir gan f¥=ma (R) 1% g a1 3/m3 # ufa
IPTS AU aR § Fufed el A &

1. 10°
2.108
3.2x 108

4.0.5x 10°
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. What is the rise in temperature of bath? /

e T & RIS 3R 3ifaH aTadH= HH: (18 + 0.5) °C 3R (40 £ 0.3) °C §1 W P
argaT § gfs | g2

1. (58 +0.2) °C
2. (584 0.5) °C
3. (22 +0.2) °C
4.(22+0.8) °C

Correct Answer :-

.« (22+0.8)°C

The dimensions of rigidity modulus are: /
Tedl Ui & 3T &
1. MLIT2
2. MIL212
3. M'LOT2

4. M1L2T2

Correct Answer :-
www.FirstRanker.com
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light is completely polarized. The velocity of the refracted ray inside the material is: /

oiq forelt urReRif uerd &t Wag W SIud= HIvT 60° giaT €, O WRTafdd UHT=I ¥ @RE |
s[dipd gl ITan 8 1 uerd & v sruafdd favor w1am 3:

1. 3/\2 x 108 m/s
2.3 x 108 m/s
3.3 x 108 m/s

4.0.5x 108 m/s

Correct Answer :-

e V3x 108 m/s

16) A car of mass 1000 kg is accelerated uniformly from rest to a velocity of 54 km/h in 5s.
The average power of the engine during this period in watts is : (neglect friction)/

1000 TFUT AT P TP BR B 5 DS H 54 fpHl/ter & 379 fovH A TeaH= U A
f¥a frar SITar 81 59 3afy & SR o9 o1 3Nd Xifdd a1e # 8: (Fdur 31 IUeHT H9)

1. 1000
2. 9000
3.2250

4.22500

Correct Answer :-

« 22500

17) A thin wire of length 0.25m and mass 4 milligram remains suspended in air between the
pole pieces of magnet. If the wire is carrying a current 0.4 A and is making an angle 90° with

the magnetic field then, the strength of magnetic field is: (take g = 10m/s2) /

4P & YdII ¢S & ad ga1 H 0.25 Hex T8 3R 4 FAreimT soaw= a1 v uden
IR TePHT Igdl 81 af R 0.4 A BT YRT BT I8 B GHdl g 3R YT &7 & q1Y BT

90° I BT &, A YIB 1T &7 B AR 8: (g = 10 A2 )
1.4 x 104 tesla / 4 x 104 ST
2.4x 107 tesla /4 x 1075 X1

3.4x 107 tesla /4 x 1076 e
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Correct Answer :-
. Tf = 2tm

21) If the phase difference between two sound waves of wavelength ‘A’ each is 60°, then the
corresponding path difference is :/

TP > a0 3o Y &Y @i ) & e Feriar 60° 8, A TETIAR TUieR 8:
1.2
2.1/6
3. 1/4

4. 6/

Correct Answer :-

. M6

22) If a body oscillates with an angular frequency ‘o’ by a constant driving force, then the
oscillations are called ./

Tfe e R FRER e 9a (S35 wi) & gRT vy Mg ‘e’ & 1Y Siad HdT 8, at
AREIKa) $ET oITal 2|

1. damped oscillations / 3auf<d ala
2. free oscillations / ¥IdH Gl

3. coupled oscillations / gﬁﬁ FSE]

4. forced oscillations /W gle

Correct Answer :-

« forced oscillations /W K

23) Two capacitors, 4pF and 6pF, connected in parallel are charged by a 100V battery. The
energy stored in the capacitor is: /

AR # 9IS 4pF 3R 6pF aTd & FUTRA-Y B T 100V 93 GRT AR fomar Sivan

1.5.0x1027J

212510927
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4.24x1072]

Correct Answer :-

. 50x1027J

The equivalent resistance between points A and D of the network shown in figure is: /

form F R v dead F figHt AR DF AT wwged wfeR &

100 2001

A, AAPA B __nova 2
500
- POAA FOAA
o 100 E 8on F
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2. Increases at south pole decreases at north pole / GI&fufl 8d WX dedl g, Ja gd U Yycdl gl

3. Decreases / hH E?f ofldl % |

4. Remain the same / JHIH Y dl %l

Correct Answer :-

o Decreases / ©H E-T STl % [

27) When the inputs of the two input logic gate are 0 and 0, the output is 1. When the inputs are
1 and O, the output is 0. The logic gate used is : /

WId & 3YC AIfoId A & 39YC 0 3R 0 B4 §, 1 3MT3cYe 1 BT 81 g Y 1 3R 0
g1 8, 1 33 Ye 0 BT 8 | U Al 7€ B

1. NOR gate / NOR 7i¢
2. NAND gate / NAND T
3. OR gate / OR T

4. AND gate / AND 7@

Correct Answer :-

« NOR gate / NOR 7@

28) A wheel has moment of inertia 5 x 10~3 kg m? and is making 20 revolutions per second. The
magnitude of torque needed to stop it in 10s is:/

U EId BT Tscargul 5 x 10°3 kg m2 8 3R g8 ufd Abs 20 U Ha1 31 10 Ios & 39
AP B SMTIADH FATgYl BT YRATT =T 2:

1.4nx 102 Nm
2.47x 102 Nm
3.45nx 102 Nm
4.451x 1072 Nm
5.27x 102 Nm
6.2 x 102 Nm

7.2.51tx 102 Nm

Correct Answer :-

e 2z v 1072 Nm

www.FirstRanker.com
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29) The value of acceleration due to gravity on the surface of earth is 9.8m/ s2. 'R’ is the radius
of earth. The value of acceleration due to gravity at a high ‘R’ and at a depth 'R’ from the surface
of the earth respectively are:/

il $t a8 W T[T b PRI @R BT AM, 9.8m/s2 8 | ‘R’ Gl $t B 31 gt &1
Iag I 3 ‘R’ TR T P BRI @RUT BT A 3R TTERTS R’ U &RVT BT T HHI: §:

1. 2.45 m/s?, 9.8 m/s?

2.2.45 m/sz, Zero
3. Zero, 9.8 m/s?
4. Zero, 4.9 m/s2

Correct Answer :-

o« 245 m/sz, ZEero

30) The angle of minimum deviation for an equilateral prism of refractive index 1.414 is: /
YA JADID 1.414 T80 TH TUYS firow & fore <aw fmar s wior e:

1. 60°

2. 15°

3.45°

4. 30°

Correct Answer :-

. 30°

Topic:- Chemistry

1) Which among the following is NOT a disaccharide? /
frafafed 3 9 o1F e sEaogs T8l 82
1. Lactose / g™ D (ﬁ?ﬁﬁﬂ)

2. Maltose / Id R (HTTC)

3. Sucrose / & QHI] (ﬁ?ﬁﬂ)
4 Neiraca [ TI8L OTeeI] (S =N
+—Dextrose/ GI& A (S

www.FirstRanker.com
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« Dextrose / SI& QIR (@HKTJF)

2) The energy of an electron in a hydrogen atom in the ground state is 13.6 eV. Which one of
the following represents the energy in the first excited state? /

T ST § U SIS S I URHTY] § U SAaeH Bl el 13.6 ev 81| Fafaf@ad
P YYH IAfoTd 3rawyT H St &1 yfaf~fiea sware?

1.-13.6 eV
2. -6.8 eV
3.-3.4eV

4, +6.8 eV

Correct Answer :-

o -34eV

3) Which of the following structural changes will NOT affect van’t Hoff factor of a dilute
solution? /

fFrafafed o ¥ S9-91 IREATES uRkads U aded f[daa & i< g1% uid &I
w18t dem?

1. Association of solute particles in the solution /Wﬁ%ﬁﬁﬁﬁ@ﬁw
2. Isomerization of solute / oo &1 gHIgad ISR

3. Micellization of solute /ﬁ@q CARE R RIGEU

4, Dissociation of solute particles /ﬁﬁ’q HUI P faged

Correct Answer :-

 Isomerization of solute / oo &1 gHIgId s

4) The conjugate base of hydrazoic acid is: /

TISSINIS® 3 BT GG &R 3:

1. Ny’
2.N3

3.N; !

www.FirstRanker.com
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Correct Answer :-

5) The loss of one neutron is equivalent to: /

T eI+ B g1 & AU gl g
1. Increase of one proton / wuﬁaﬁﬁq@
2. None of these /E’@Tﬁﬁﬁﬁgﬁ

3. Both loss of one g-particle and increase of one proton / T g - HU o1 g1 3R Th
gIciH &t gfg aHl

4. Loss of one g-particle / T g - HU P gl

Correct Answer :-

. Loss of one p-particle / T g - HUT DI &I

6) The rate constant for a first order reaction is 60 per second. How much time will it take to

6th

reduce the initial concentration of the reactant to it 1/16"" value? /

umﬁﬁ;ﬂ%m%ﬁua@meouﬁ@!ﬁ%l STUPRS B YRS Figar B
TP 1/169 U b TeA § R TwT T

1. 7x1072s
2.4.6x102s
3.8.6 x102s

4,5x103s

Correct Answer :-

e 4.6x1072s

7) What is the total number of tetrahedral voids in FCC structure?/
TG SaT o aqupas g Ricaal &1 g I |1 82

1.4

2.8

3.6

www.FirstRanker.com
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e 1.41x 10 3 molL!

11) Sulphur hexafluoride exhibits hybridization and has shape.
/

AP FRTRIRIGS _ U UGRIAPRAT g SIRSUPTI___ IMHR g o
1. dsp2 , square planar / dspz; I g

2. sp°d? , octahedral / sp3d?; IVHADIY

3. d2sp3, octahedral / d2sp3; 3THADIY

4. sp3d , trigonal bipyramidal / sp3d; Biofia fGitRiFrs

Correct Answer :-

. sp3d?, octahedral / sp>d?; SFHADIY

12) A radioactive element gets spilled over the floor of a room. Its half-life period is 30 days.
If the initial concentration is 10 times the permissible value, then after how many days will it
be safe to enter the room? /

TS AfSAhT 9 TH HUR & BRI W el AT 8 | ST Uiy &1a 30 e 31 afe
gjnrwmeﬁﬁuuﬂmmw%,a}ﬁmﬁﬁﬁumm%ﬁmmﬁv@ﬁ

1. 300 days / 300 f&A
2. 100 days / 100 f&1
3. 1000 days / 1000 f&H

4.10 days / 10 f&

Correct Answer :-

« 100 days / 100 fad

13) A given vitamin “X” is called an “Appetite vitamin”. It is water soluble and helps in
carbohydrate metabolism. Its deficiency causes Beri-beri. What is its chemical name? /

it fo w1 faerfim X &1 T ot faerfim a1 uerse faefiq ST 31 a8
Ut # A= giaT 8 SR FIaigisgc & JaTay § Heg $idl ¢ | SUB! HHl at-adt
BT HRUT I & | THBT IS 149 FT 82

1. Cyanocobalamin / W—Qﬂ'ﬂﬂ:{

www.FirstRanker.com
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3. Pyridoxine / TR ST
4. Riboflavin / ﬁ‘cﬁﬂ%ﬁ:{

Correct Answer :-

« Thiamine / YTAHT

14) NaCl crystals appear yellow due to: /

NaClfped & oRu dia 3 & fears ¢a 21
1. Schottky defect / Qcah! Y

2. F-centres / F — Y (TH-Hg))

3. Frenkel defect / Thohdl &Iy

4. Interstitials / SR

Correct Answer :-

o F-centres /F - Jdcd (W-ﬁ)

15) Identify the compound in which sulphur does NOT obey the Octet rule. /
9 A Y A B Forad Jews, siiace fHad &1 ure 981 drar g |
1. H,S
2. SF,
3. SF,

4.50,

Correct Answer :-

16) Equimolar solutions of different non-volatile and non-ionic solutes in the same solvent
have: /

TaH faamrae # fafid A-arsoxiia ok RR-emafae facal & gHHig (SPIHR)
faga A g g

1. Different boiling and different freezing point / T3 pYIH IR fim IREICE

_ . . . . . : oo
#ﬁﬁ#ﬁ—ﬁﬁﬁﬁw ame pollng point but dilfferent 1IrecZIing poin THa ToH T

www.FirstRanker.com -
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4, Same freezing point but different boiling point / JHI feHi® difdb- I3 HY-id

Correct Answer :-

« Same boiling point and same freezing point / THIT HYIH 3R THH IREIED

17) Which one of the following d orbitals has a different shape but degenerate with the rest
of the d orbitals? /

frafafad 7 A 5T d Fare (3Mfdcd) BT TP 3IeRT ATHR gidl & Afp- TTH! d HeHI &
1Y 3UFHY (SISRE) B2
1. d,

2. dy,

4.d,?

Correct Answer :-

18) Which among the following is an appropriate reagent which is use to convert 1-
phenylpropane to benzoic acid? /

fFrefafaa o O Sugea sififede #19-a1 8 o 1-fFArsawu= & dulis® sia o
ufafdd w31 & fere Suzh fear sirar 82

1. KMnO,/OH"

2. Conc. HySO4 / ¥ H,SO4

3. Pyridinium chlorochromate / mﬁ%ﬁw FARIBIHE
4. Alcoholic KOH / 3fchIgfeidh KOH

Correct Answer :-

« KMnO,/OH"

19) Which among the following statements is CORRECT about [Cu (NH3)4]SO4? /

frafafea & Q S19-91 $YF [Cu (NH3),1S0, F TR T T 82

1. The bond between Cu and NHj is covalent. /
www.FirstRanker.com
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activation energy of such a reaction will be (R=8.314 JK "1 mol1): /

TS SAfUfRaT BT & SR 81 ATet @ S1d ST aad= 300K | 310 K a% uiRafedd gt
SITdT 8 | 39 av8 &1 srfufshar 91 afssaur Seif (R=8.314 JK "1 mol1 ) Fft:

1. 53.6 KIJmolL

2. 61KJ
3. 58.5 KJmol!

4. 48.6 KIJmol™!

Correct Answer :-
« 53.6 KImol'l

23) The bond dissociation energy of H,, Cl> and HCI are 110, 52 and 103 kcal/mol
respectively. The enthalpy of formation of HCI gas will be: /

H,, Cl, 3fX HCI @1 3Tae fadier Self vHRT: 110, 52 3R 103 kcal/mol &1 HCI 719
¥ formfor &1 qof o () gnfi:

1. (-) 44 Kcal
2.(-) 11 Kcal

3. (-) 22Kcal

4. (-) 88 Kcal

Correct Answer :-

e (-)22Kcal

24) If chloroform is left open in air in the presence of sunlight, then it gives: /

Tfe TRIGIH &) Gd & Y= $1 IufRATY # arg A gerr Sis fear sirar ¢ @t g ar e:
1. Chloromethane / FIRAYA

2. Carbonyl chloride / BTEIMA FARISS

3. Mustard gas / A 19

4. Carbon tetrachloride / d?léﬂ é;ldﬂ\lil‘is

Correct Answer :-

o Carbonyl chloride / 0b|®|TP1Q’I dﬂ\lilss

www.FirstRanker.com
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Frafafea & 9 foa sfiferar & R K, = K. I 3?

1.N2(9) + 3Hx(g) =2NH3(9)

2.2NOCI(g) = 2NO(g) + Cly(9)
3.H2(g) + C(9) = 2HCI(g)
4. Hy(9) + D(s) = 2HI(g)

Correct Answer :-

« Ha(9) + Cl(g) = 2HCI(9)

26) Which among the following compounds does NOT give iodoform test? /
fFafafeaa el § & S19-91 SmrsIweid wdeor 981 a1 82

1. Acetophenone / Qﬁl_cpffq?_"h:[

2. Ethanal /‘s’a:r‘fa

3. Propan-1-ol / UOH-1-34Td

4, Pentan-2-one / geq -2-3111

Correct Answer :-

e Propan-1-ol / OF-1-3Td

27) Which among the following statements is INCORRECT regarding Nylon 6,6? /
fFrafafad § @ S19-91 $YF T 6,6 & ey & 3Td 8?2
1. Nylon 6,6 is a condensation polymer. /
A 6,6 T T 9gAP o |
2. Nylon 6,6 is tough and abrasion resistant. /
A 6,6 HOR AR THO-HfRIE B
3. Nylon 6,6 is used in the manufacture of carpets, textile fibres, etc. /
A 6,6 BT SUANT BIAH, HUST, W 311fe & ot & fovar Srar g1

4. Nylon 6,6 is an elastomer. /Wﬂ?ﬁ-—-{ 6,6 Tdh R[N %I

Correct Answer :-

« Nylon 6,6 is an elastomer. / AW 6,6 Th YIRS & |

www.FirstRanker.com
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H: + I 2 2HI AH=2040kcal'mol /
& 715 3R 7 HI & Ater & qof ssar (wdedh) 61 aomr w1

Hz + Iz = 2HI  AH =2040kcal/mol

Consider the given reaction:

(i) dil NaOH
CH;CHO —— = A

(i) NaBH,
Identify the product A./

fArafefag M . Tar =

(i) dil K a0H

CH ,CHO A

(ii) KaBH.
/ 3UIG ‘A’ T 9gad iU
H,C——CH,—CH, —COOH

H3C—ﬁ—CH2—CH2—CDDH
0

HEC—?H—CHZ—CHE—GH
OH

www.FirstRanker.com
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CH,—CH,—4&

HEC—(?H—CHE—CHE—CIH
OH

Find the enthalpv of sublimation ofice from the following data? /
fArafaf@d siest & a6 & Fedurder $r qot FeAT (Tiled) w1 AT #:2

H20(1) - H20(g) AH=42.75kI mol-!

H:0(s) - Hi0(1) AH=6.00k] mol-!

Name the genes that are involved in turning off or on, the transcription of a set of genes. /

I S BT ATH Fa15d 1S9 & TP Ue & [wd- (Srafh=I) P ¢ a1 a1 HA A
M g 8

1. Regulatory genes/ﬁﬂm\?ﬂ:{
2. Operator genes R EINCASIE
3. Exons/WTq

4. Introns/%@TH

Correct Answer :-

. Regulatory genes / O SiiA

www.FirstRanker.com
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TR AT BT T Hgedqu! 0T FIT FHT 9132
1. Must have the ability to replicate / m S & & dT gt a1y

2. Must be flexible / T8 (FAfagaen) g1 A1RU

3. Must be helical / $idId (gfcied) BIH1 AMBT|
4. Must contain purines and pyrimidines /Wﬁqﬁ:{ 3R fafkfafs g =l

Correct Answer :-

« Must have the ability to replicate / Ui Td T4 DT &HdT gIH! AT

Biodegradable plastic that is produced by Methylobacterium is: /

Frurseideiiiam & gRT Sanfed Siaf e @iiRke® o
1. Polyhydroxybutyrate / W@W

2. Polypropylene / tﬁ%ﬂ?ﬁﬂ'l%?ﬂ:f

3. Polystyrene / q'vl?ﬂ?@:[

4. Dextran / @;HEFT

Correct Answer :-

C v (a) I

« Polyhydroxybutyrate / uTm"lslsg R C

cry3A gene encoding protein controls: /
P13 3A SN RIS M Fifa sa &
1. Colorado potato beetle / DIARTS! Gﬂﬁm
2. Corn rootworm / @1+ CaH
3. Corn borer / - SRR

4. Cotton bollworms / ARG aﬁaﬁ

Correct Answer :-

+ Colorado potato beetle / HIARIS] ST, Sicd

The crossing over frequencies between the genes A and B, A and C and B and C are 8%,
15% and 23% respectively. What is the possible sequence of genes on chromosomes? /

- - - www.FirstRanker.com - -
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e g1 e 1Y f3-srra ffeor &t adam & e & ST sroafe 7T o 8:
1. A large number of organisms did not fall into either plants or animals only./
gS! ST H Sitg, 9 81 el a1 71 g SHaR) & 3fdid 3d g

2. Not distinguishing photosynthetic and non-photosynthetic plants (fungi) separately only./

Had THTIHLATSD 3R TR-UPHT JRANH Uielf (badh) & He 7 H UH
3. Not distinguishing prokaryotic and eukaryotic organisms separately only. /

YA TR IR (IR TR S ghEe o @& e T e T
4. All of these/ IUdad Tuft

—Correct Answer—:=

- www.FirstRanker.com
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The pollen of which of the following plants is notorious to cause severe respiratory
problems? /

fFrafafaa 7 3 g MY &1 RET g9 F9th 7k Iansei & RS 9 7 SHE1 ST
2

1. Parthenium / EIT?:f&I'qT[
2. Lantana / NGl
3. Acacia / BIDH

4. All of these / T Tt

Correct Answer :-

o Parthenium / qTifﬁPCIT[

The term synergistic action of hormones refers to the situation of: /
FRA FT ghharH® fohar ug i o1 fRufa o1 wefifa sxar g:
1. When two hormones act together but bring about opposite effects. /

SId &l SR U 1Y B B § alfcb fauRid THTE o1l 5 |
2. When two hormones act together and contribute to the same function. /
STd &l BRAM U 1Y SR B & 3R FHH B H Jgd Hd 5 |
3. When many hormones bring about any one function. /
o s gRAF fbdt T ®1f &) i B

4. When one hormone affects more than one function. / 518 T BREM T I 3Hfdd B BT UHIfAd
BT g

Correct Answer :-

« When two hormones act together and contribute to the same function. /

el &1 SRAM Teh 1Y BT hd & 3R JHM B H ganT Hd g

What happens when the moisture content is reduced by dehydration to prevent
microbial growth in food?/

%%m%wmmﬁﬁ&mﬂaq@ﬁﬁﬁ%gﬁﬁ?ﬂwmwﬁwwaﬁ

1. Only concentratlon of solutes in the food increases, /
www.FirstRanker.com
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2. Concentration of solutes in the food increases and the concentration of water decreases./
Yo o facid &1 il Sgdl & 3R I B Figdl ged g

3. Concentration of solutes decreases and concentration of water increases./
facig &t Higar g § SR ofd & "igdl dgdl ¢

4, Water content remains the same. /

el 1 {9 gl g

Correct Answer :-

o Concentration of solutes in the food increases and the concentration of water decreases./

HioM § fada &t Irsdl Sd! & 3R Od &1 Jigal gedl g

11) Emerson effect is related to the: /
3R yHTE f 9 wefta B
1. Increase in quantum yield of photosynthesis in presence of monochromatic light. /

AP ACH TR B IUTUTT T TR AU &I HIcHl Al & IfG |

2. Decrease in quantum yield of photosynthesis when light of two different wavelengths are
provided together. /

O T 3(QT-3IeT dRITeed i AT Uh F1Y U &1 STt 8, e Teh T XA B Sl H
Afl # T

3. Decrease in quantum yield of photosynthesis in presence of high light intensity. /

3 UHT digdl it SURITT H UBT TIAYUT BT BIcH! dfsdd H HHT |

4. Increase in quantum yield of photosynthesis when light of two different wavelengths are provided
together. /

TS I S{TT-3MT IS Bl AT Th 1Y YSH P SIdl §, T UhT TRV Bl HIeHl dfed H
giS|

Correct Answer :-

» Increase in quantum yield of photosynthesis when light of two different wavelengths are provided
together. /

S I SHTT-SET AT DI AT Uh W1 YSH B St §, I YHT YIAW] DI e afed H
G|y

12) A special feature of dividing cells is: /

o . - www.FirstRanker.com
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1. Transduction / GIReHHUT )
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3. Conjugation / WIFT

4. All of these / T gt

Correct Answer :-

« Conjugation / JgHT

Oxidative enzymes in fresh fruits and vegetables use oxygen to: /
s el 3R Afesral & sifRftefea tersH fAa & g sifRiis= &1 Ui #7d &
1. Keep the fruits and vegetables fresh / Hal 3R Giesrl o1 arel e %ﬁ
2. None of these / E:I'Ef q aﬁé =|€°r

3. Metabolize / TATIAY B g (HTTIAS)

4. Increase the nutrient content of fruits and vegetables/ wal 3R Gfestdl &t Uie Jrft ol
G g

Correct Answer :-

« Metabolize / TATTIT HRA 8 (HCTAICISS)

Omnis cellula-e-cellula was proposed by: /
INTET AFAT-T- AT DI g7 gRT Ufcrarfea favar war or:
1. Robert Hooke / & gh
2. Schleiden / TAS
3. Virchow / faRa3

4. Schwann / I+

Correct Answer :-

o Virchow / CREIE]

In which stage of meiosis do chromosomes appear to have four strands? /
AU & fohg =R § O & IR WS fewrs aa @2
1. Pachytene / ®cTUS (aﬁ:l)
2. Diplotene /fe Ug (%@‘cﬁﬂ)

www.FirstRanker.com
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JioeHr 3R 37ST
2. Nucellus and polar nucleus / s ® 3R ifﬁ'q b
3. Nucellus and secondary nucleus / dSise™ 3R fedla® dad

4. Nucellus and synergids / SISITS®Td 3R T8 HIRABTY

Correct Answer :-

« Nucellus and secondary nucleus / dee™ 3R fedia® dham

Which of the following pair is a natural fibre? /
fr=fafad § @ S19-91 T T Tipfae Breer 82
1. Rayon and jute/ W 3R v[c
2. Rayon and polyester /a1 3R qﬁw
3. Jute and silk / € 3R Riewh
4. Silk and polyester / e 3R gifeaeex

Correct Answer :-

. Jute and silk / SC 3R Rieh

Which of the following statements is INCORRECT about photorespiration? /
fFrafafad # § S19-91 $yF yeig g9 F IR A 32
1. Photorespiration occurs in C5 plants. / UBhTRI U1 C; tﬁ%ﬁ " E?R_‘IT %I

2. The first compound formed during C,4 pathway is oxalo acetic acid. /

C, UY & SR fAfd ugen 9ife sifaya-ufifes TS 3|
3. C5 plants have Kranz anatomy. / C3 tﬁ‘f‘ff H BTl Q:I'IE'\IIﬁf Eﬁ?ﬁ %I

www.FirstRanker.com
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Peroxisome / TR3TITHT
2. Vacuole / TG m
3. Golgi body / TTesil BT
4. None of these /gﬂﬁ@ﬁﬁﬁ

Correct Answer :-

. Golgi body / et B
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Amphitropous ovule / 3R (YEFCUX) dielig
2. None of these / 317 I ﬁ% T8l
3. Anatropous ovule / ¥dIT (TATCIUY) SioliS

4. Campylotropous ovule / FHTZARIUY 1SS

Correct Answer :-

. Anatropous ovule / Tdid (TATCIUY) Siolig

Enzymes are biocatalysts and they catalyse biochemical reactions. Which of the following
reactions is NOT catalysed by an enzyme? /

TSTEH S9-3aR® ¢ 3R 9 9g e ufafsarsi @1 IAfd #d 81 Fufefaa d 9 #19-0
ufafsrar Te CorgH gRT SAR 181 gt 22

1. Unwinding of two strands of DNA/ ST & &l 3\%\3 DI SIS

2. Dissolution of CO, in water / Ul & CO, T fage

3. Formation of peptide bond / UPISS 3ATEY P T3
4. Hydrolysis of sucrose / ﬁﬁﬁ & EE@]%@H

Correct Answer :-

« Formation of peptide bond / UPISS TS P13

Human beings are responsible for the depletion of ozone layer. Which one of the following
substances is NOT responsible for the depletion of ozone layer? /

SN IRA Bt &g & T a9 omieR 81 8ol wRd & W & e fFufafed & @ #i9-a1 uerd
R T8 32

1. Carbon tetrachloride / BT& aa dﬂ\lilis
2. Ammonia / 3fHIT

3. Chlorofluorocarbons / FRT GAIRT dTa
4. Aerosols / TR

Correct Answer :-

« Ammonia / 3T

The strand of DNA which does NOT code Tor anything is referred to as . ]
www.FirstRanker.com
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1. Intron and extron / - gTﬂ 3R {EN <;T-1
2. Template strand / [ @3

3. Non-coding strand / A-pIfST @\_6'
4. Coding strand / PIST 1%6’

Correct Answer :-

« Coding strand / HIfST IS

29) Ribosomes are of 70S and 80S types seen in a cell. Which of the following statement is
CORRECT regarding 'S’? /

IS TP HIDT H @ S a1 708 3R 80S UPR & gld &1 FAfaf@d § 4 #19-31's' &
Tay A 981 82

1. ‘S’ stands for sedimentation coefficient unit only. / ‘S’ Hdd 3fdgTe- {JJUIiOb somé CARCGIGD %I

2. It is a measure of size only. / g HId HHR B Uch HIY %I
3. It is a measure of the density only. / g Fad °g-cd BT HY %I
4. All of these / ITdad T

Correct Answer :-

. All of these / ST T+t

30) In alternation of generation in plants, a sporophyte alternates with a gametophyte or vice-
versa. Which of the following statements is INCORRECT for a sporophyte? /

tielf N F fwe A, ve diwmy) g )TWRIwEe (THgHsiige) MewEe (A1 39 faudta
& 1y fywadl giar g IF=fafea # @ s19-a1 e 3fge )aRiwne (& foremed 82

1. Sporophyte is dominant in Pinus. / UIg1H | EﬂTrlTUl 3fae )%'«I\I{\I h1gcC (H‘J-I'I?ﬁ gidm % I

2. Sporophyte is always diploid. / §ToT0] 3fee ) TURIBIEE (EHRM fETIfOrd 8T 5|

3. It is always independent and photosynthetic. / g S WA 3R UBTRATD gral %I
4. It produces spores. /Ug EﬂTﬂWl I HAT 8

Correct Answer :-

« It is always independent and photosynthetic. / g B'EF-‘TIT LS G?IT UHTRRIAY S @FIT %I

Topic:- Zoology
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1. Increase in concentration of the pollutants as they cannot be recycled /
TeNe| B Figd § gi, AP § T: afebd el 6 S Tehal &
2. Increase in concentration of the pollutants as they are not biodegradable /
Ugu! Bt Figdl | Jf Hifd o Safwidmo 18t 5
3. Increase in concentration of the pollutants at successive trophic levels /
AR AT TR (ST ddd) IR UgUD| &I Higdl H Jla
4. Increase in concentration of the pollutants over time /
A & 1Y UguD| & Aigdl d gfg

Correct Answer :-

« Increase in concentration of the pollutants at successive trophic levels /

AR U0 SR (Sl ddd) IR UguD| &l digdl H gig

A

2) The number of bones in axial skeleton is: /
e ST § gfyal &1 GBI §:

1. 40

2.20

3.80

4. 60

Correct Answer :-

- 80

3) The first clinical gene therapy was given in 1990 to a girl with SCID disorder, which is
caused due to the deletion of the gene for .

WYY AP (Felifadwa) siiF A 1990 A scIp fapR arehl e asat &1 &t 718 i, =it
3 ®IgeH & SRU S 8l

1. Glutamate dehydrogenase / WE'ITEI_C’ %EIQS\ EEE
2. Monamine oxidase / In:ng'_‘[ ARftee
3. Tyrosine oxidase / TR SRS

www.FirstRanker.com
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Correct Answer :-

e Adenosine deaminase / TS IR SEAHTg

4) The embryo with 8 to 16 blastomeres is: /

8 W 16 PROWS (TANCIHAR) Afed YT 8T B
1. Blastula / SR

2. Polar body / ﬁ’q Eap

3. Morula / FRSG

4. Trophoblast / a@w

Correct Answer :-

e Morula / Il ol

5) The process of evolution of different species in a given geographical area starting from a
point and diverging to other habitats is called J

it faw e vimifere & o fafis yenfodi & faewra 3t uftear &1 e fag @ =5
3R 39 ATl § g &I SIS 2|

1. Divergent evolution / UHR] fdb™
2. Convergent evolution / 3THIRY fdHT

3. Genetic drift / &ﬂﬂam zﬂﬁf
4. Adaptive radiation / G‘IW fafeuor

Correct Answer :-

+ Adaptive radiation / &Wﬂ fafemuor

6) The extra embryonic membrane in humans that protects and prevents desiccation of the
embryo in the uterus is:/

wgeat § Srfafve yor fareeh sit THizr § Yo &1 Yy | TEE R FRET B! B
1. Allantois / S{URTUINT

2. Chorion / SRTg (THave)

3. Yolk Sac / Tid T (STef Aeth

4, Amnion / 3¢d
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e Amnion/3¢d

7) The letter ‘T’ in T lymphocytes refer to: /

T a1 (R RIgew) ® 1 3igR A &) Tefifa #ar g:
1. Thymus/ YIgHY

2. Thrombin/ U

3. Thrombocytes / LIRS EX
4. Tetanus/ fee 4

Correct Answer :-

o Thymus/ YIgHY

8) The water vascular system is a unique characteristic possessed by which Phylum? /
oIl Sag-il WOTTelt U St fa=ive § it 39 w9 # Urg STl 82

1. Coelenterata / Tl el

2. Porifera / ORI

3. Echinodermata / Wﬁfm SHIIAISHET

4. Hemichordata / %Iﬂﬁg?[

Correct Answer :-

« Echinodermata / Wﬁfm 355|3'_‘i|3a3|

9) Name the parasitic worm that causes a slowly developing chronic inflammation of the
organs in which they live for many years, usually the lymphatic vessels of the lower limbs./

I URSiTd! HIH BT 19 Fa13¢ ot 3 H SfR-R faw R g1 arell R o &1 drRor
g1 8 5w 3 5 auf ap, 3R W fA=d ol & axfier arfgwrsil # ved g

1. Taenia solium / 9T Fiferagd

2. Ancylostoma / QWU@??E’W

3. Ascaris lumbricoides / WW@@W?@W
4. Wuchereria malayi / gﬁ?ﬁ?ﬁ :q@EF

Correct Answer :-

www.FirstRanker.com
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4. Choroid layer / Idddh URd

Correct Answer :-

« Ciliary muscles / gerTiiyent Uit a1 fferert wivafRm

17) Inflammation of joints due to accumulation of uricacidcauses ___ ./
RO N F I F PRSI DI YA P SR Il ¢

1. Arthritis / ST T Y MY (3mRmsfew)

2. Osteoporosis / &@Rgrfﬁwm AR

3. Gout / dTd T (TR3C)

4. Tetany / 3TTdTIDT (ST

Correct Answer :-

. Gout/ aTd IT (MSHe)

18) Ptyalin in saliva is inactivated by: /

9 & gR1 AR # erareiq FAfepa fear e 3:
1. Mucus / delTTH T hh

2. Bile / fod

3. Rennin / XA

4, HCI/ QEWHQFI
Correct Answer :-

. HCI/Q?N“Q@

19) Ramu was observing the slide of muscle tissue. The character he observed were
striation and multinucleated. What type of muscle did he observe?

/ I, UM SHaP B T3St B e B TeT 4TI ITA S A&7 @ a8 W iR sgdafed Tl
IS4 fore upR Ft 9=M &1 ot fmare

1. Skeletal muscle/ PHTA o=
2. Cardiac muscle / €& B1 usft
3. Smooth muscle/ fert UL

7 LIgaments 7 sargs o
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13 TORE &1 greard!
2. Trisomy of 18 chromosome / 18 W Gl E'IE@fﬁ
3. Trisomy of 16 chromosome / 16 W il ‘gl%?ﬁ?ﬂ
4. Trisomy of 21 chromosome / 21 1Itflﬂjf Gl E’I%?ﬁ'ﬁﬂ

Correct Answer :-

« Trisomy of 21 chromosome / 21 TUREA &1 CISEH!
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1. Neanderthal man / ﬁﬂzgwa ﬁ'_‘[
2. Homo habilis / 5’?:7?(?7@7%?7

3. Homo sapiens/ g4 I~

4. Homo erctus/ 151 33

Correct Answer :-

o Homo habilis / W?@ﬁ?

24) Which of the following is an example of sesamoid bone? /

Fraff@a 3 @ B9 ey (adfereT 3ifRY) BT @ Iae 82
1. Ear lobe / T UTfdT (3R A4)

2. Knee cap /1 &0

3. Intervertebral disc / SARTHRISH [6d (SeXACH [Sh)

4. Vertebrae | HRISHIY

Correct Answer :-

« Knee cap /by

25) Which of the following features of cartilaginous fishes is absent in bony fishes?/

fFrafafaa # @ SufRigR wafemr (Eifidafmy fiern & F19-W fAvar ssier wofemt (a-t
fipzr) # srqufeyd gl 82

1. Viviparous / SIRTG]
2. Gills/ TA® S

3. Stream lined body / W@H IRR
4. Poikilothermic / fagHardt

Correct Answer :-

« Viviparous / SIRTYql

26) An important feature of cloning vector, responsible for controlling the copy number of linked
DNA is ./

FAT a9 B U Agayul fa=ivar gl 8 5 9 11 feias Shuav $t ufafef e «i

forifya w31 & fore SwRerdt 81
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2. cloning site/ =T SIEE
3. promoter / THCR

4. selectable marker / T HRA TG ATHR (Jaidead HIHR)

Correct Answer :-
. ‘ori’/ “3RP

27) The characteristic demographic features of the developed countries are:/
fawfra 3= @t fafRw STwifeey favan &

1. High fertility rate, high per capita income, better living standards/

3 Yol &, 3= Ufd Afad 31, S8R Sl &R

2. High mortality rate, rapid population growth, very young age distribution/

3 G &R, ol I ST g, 9gd HH 39 BT Rl

3. Low fertility rate, high per capita income, better living standards /

S Ul &x, 3o Ui Safad 31, 9gaR Sifa Wik
4. High fertility, rapid fa lling mortality rate, rapid population growth /

I UG &, doll ¥ TR g &R, il d S8 gfg

Correct Answer :-

« Low fertility rate, high per capita income, better living standards /

HH U &3, I Uld Afad 3, 9gaR Siid Wk

28) The part of human foetus that represents the primitive gut is:/
W9 YT &7 98 fewar < snfew sria (fififea e) &1 ufafaftra s=ar &:
1. Blastocoel / SARCIHIA

2. Archenteron / 3T (31llr§>(\i{\ll"|)

3. Gastrocoel / Wﬁ

4. Blastopore /| PR®HIEY (@ﬂl%dlu\le)

Correct Answer :-

. Archenteron/\”‘f@'ﬁ(& é.séﬁ;')
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3. An furnitures

4. A furniture

Correct Answer :-

e The furniture

25) Read the passage carefully and answer the question given below:

The sweet whiff of first rain drops on the dry land filled her nostrils thrilling her onto the
onslaught of monsoons. Rain is the greatest saviour of the dry lands of Rajasthan. The area
which witnessed the valour of Rajputs in Medieval times is one of the most colourful lands of
India, however though extremely rich in culture the land suffers from some of the great oddities.
Gender disparity, honour killings and female infanticides are some of the disreputable issues
which taint the political and social frameworks of the state. These issues plague and tarnish the
image of a land so culturally rich. She was one of the members of an NGO who had taken up
cudgels to voice her angst against gender bias and inequality of the feminine gender. She really
felt astonished over the downslide of position of the fairer sex in an area, which had produced
the likes of Meera and several mentionable queens.

Which of the following issues is NOT mentioned in the given passage?

1. Sati
2. Honour Killings
3. Gender Disparity

4. Female Infanticide

Correct Answer :-

o Sati

26) Choose the correct form of phrasal verb for the given sentence:
your hand if you want to answer the question.

1. Keep up

2. Put out

3. keep out

4. Put up

Correct Answer :-

27) Choose the option that best trwﬁ\flwrﬁrlgﬁgﬁﬁléf%mce into its superlative degree:
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1. No other boy in the class is as intelligent as James.
2. James 1s more intelligent than any other boy in the class.
3. James is not as intelligent boy in the class.

4. James is the most intelligent boy in the class.

Correct Answer :-

« James is the most intelligent boy in the class.

28) Read the passage carefully and answer the question given below:

The sweet whiff of first rain drops on the dry land filled her nostrils thrilling her onto the
onslaught of monsoons. Rain is the greatest saviour of the dry lands of Rajasthan. The area
which witnessed the valour of Rajputs in Medieval times is one of the most colourful lands of
India, however though extremely rich in culture the land suffers from some of the great oddities.
Gender disparity, honour killings and female infanticides are some of the disreputable issues
which taint the political and social frameworks of the state. These issues plague and tarnish the
image of a land so culturally rich. She was one of the members of an NGO who had taken up
cudgels to voice her angst against gender bias and inequality of the feminine gender. She really
felt astonished over the downslide of position of the fairer sex in an area, which had produced
the likes of Meera and several mentionable queens.

What is the opposite of the word ‘Valour’?

1. Kindness
2. Cleverness
3. Cowardice

4. Bravery

Correct Answer :-

o Cowardice

29) Read the passage carefully and answer the question given below:

The sweet whiff of first rain drops on the dry land filled her nostrils thrilling her onto the
onslaught of monsoons. Rain is the greatest saviour of the dry lands of Rajasthan. The area
which witnessed the valour of Rajputs in Medieval times is one of the most colourful lands of
India, however though extremely rich in culture the land suffers from some of the great oddities.
Gender disparity, honour killings and female infanticides are some of the disreputable issues
which taint the political and social frameworks of the state. These issues plague and tarnish the
image of a land so culturally rich. She was one of the members of an NGO who had taken up
cudgels to voice her angst against gender bias and inequality of the feminine gender. She really
felt astonished over the downslide of position of the fairer sex in an area, which had produced
the likes of Meera and several mentionable queens.

According to the nassage, which gender’s nosition is being debated?

www.FirstRanker.com
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2. Male
3. Transgender

4, Female

Correct Answer :-

o Female

30) Read the passage carefully and answer the question given below:

The sweet whiff of first rain drops on the dry land filled her nostrils thrilling her onto the
onslaught of monsoons. Rain is the greatest saviour of the dry lands of Rajasthan. The area
which witnessed the valour of Rajputs in Medieval times is one of the most colourful lands of
India, however though extremely rich in culture the land suffers from some of the great oddities.
Gender disparity, Honour killings and female infanticides are some of the disreputable issues
which taint the political and social frameworks of the state. These issues plague and tarnish the
image of a land so culturally rich. She was one of the members of an NGO who had taken up
cudgels to voice her angst against gender bias and inequality of the feminine gender. She really
felt astonished over the downslide of position of the fairer sex in an area, which had produced
the likes of Meera and several mentionable queens.

What is the meaning of the word ‘Tarnish’ in the given passage?

1. Say something that damages someone's reputation or image
2. Say something that smears someone's reputation
3. Say something that protects someone's reputation

4. Say something that improves someone's reputation

Correct Answer :-

« Say something that damages someone's reputation or image
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